2004-2005 CADILLAC CTS-V PARTS LIST

31-12-02-078 SUBASSEMBLY, SUPERCHARGER TO CYLINDER HEAD BOLTS, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
8 71-06-10-080 BOLT-HEX FLANGE, M6 X 80, CADILLAC CTS-V
31-14-59-034 SUBASSEMBLY, KNOCK PLATE, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 69-57-00-000 PLATE, KNOCK SENSOR, CADILLAC CTS-V
10 72-08-10-025 BOLT, SKT HD, CSUNK/FLTHD, 8MM X 1.25 X 25MM, CADILLAC CTS-V
2 81-00-00-007 SEAL, KNOCK SENSOR PLATE, CADILLAC CTS-V
6 80-59-10-309 O-RING, BUNA N309, CADILLAC CTS-V
31-12-02-080 SUBASSEMBLY, COOLING SYSTEM, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 68-01-00-089 HEAT EXCHANGER, CADILLAC CTS-V
1 68-01-03-016 RESERVOIR, COOLANT, CADILLAC CTS-V
1 68-14-59-002 INTERCOOLER PUMP, CADILLAC CTS-V
8 48-46-10-003 CLAMP, HOSE, CADILLAC CTS-V
2 82-55-00-028 HOSE, 3/4" 90DEG, COOLANT, CADILLAC CTS-V
1 82-55-00-031 HOSE, 3/4" MOLDED, COOLANT, CADILLAC CTS-V
1 82-55-80-003 WIRE/CONN ASSEMBLY, I/C PUMP, CADILLAC CTS-V
1 82-55-50-115 FUSE, 15AMP, CADILLAC CTS-V
1 82-55-50-006 FUSE TAP-IN, CADILLAC CTS-V
1 82-55-60-113 16-14 GA. PUSH ON TERM FEMALE, CADILLAC CTS-V
10 69-90-24-004 TIE WRAP, CADILLAC CTS-V
2 48-46-10-037 CLAP, ADEL #36, CADILLAC CTS-V
4 72-08-12-016 BOLT, ROUND HEAD, SQUARE NECK M8 X 1.25 X 16MM, CADILLAC CTS-V
4 77-10-08-010 NUT 8MM HEX FLANGE, CADILLAC CTS-V
4 71-05-08-030 BOLT-HEX FLANGE, 5MM X 0.8 X 30MM, CADILLAC CTS-V
4 75-00-10-014 WASHER-AN 1/4", CADILLAC CTS-V
30 90-72-00-003 TAPE, FOAM, CADILLAC CTS-V
2 71-06-10-012 BOLT-HEX FLANGE 6MM X 1.0 X 12MM, CADILLAC CTS-V
2 65-12-57-050 BRACKET, COOLANT RESERVOIR, CADILLAC CTS-V
31-12-02-082 SUBASSEMBLY, AIR INLET, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 82-55-10-023 HOSE, 3.75" X 3.0" LONG, CADILLAC CTS-V
1 35-20-53-013 MANIFOLD, AIR INLET TUBE, CADILLAC CTS-V
3 71-06-10-030 BOLT, FLANGE, M6 X 30, CADILLAC CTS-V
1 82-55-00-011 HOSE, 3 7/8" X 2", CADILLAC CTS-V
3 48-46-10-024 CLAMP, HOSE, #60, CADILLAC CTS-V
31-14-59-009 SUBASSEMBLY, BALANCER PIN, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 69-99-00-070 DRILL JIG, CADILLAC CTS-V
1 71-16-20-120 BOLT-HEX 16MM X 2.0MM X 120MM, CADILLAC CTS-V
1 71-16-20-103 BOLT-HEX FLANGE 16MM X 2.0MM X 103 ZINC, CADILLAC CTS-V
1 69-80-00-003 CRANKSHAFT REAMER, CADILLAC CTS-V
2 69-00-30-002 DOWEL PIN, CADILLAC CTS-V
1 69-80-00-001 STEP DRILL, CADILLAC CTS-V
1 ] INSTR-CRANKPI|  INSTRUCTIONS, CRANKSHAFT BALANCER PIN INSTALL

Page 1 of 3




2004-2005 CADILLAC CTS-V PARTS LIST

31-12-02-084 SUBASSEMBLY, ELECTRICAL, CADILLAC CTS-V
QTY] PART NUMBER ITEM DESCRIPTION
1 82-55-53-005 IAT WIRE ASSEMBLY, CADILLAC CTS-V
12 82-55-40-041 CONNECTOR, BUTT, CADILLAC CTS-V
112" 82-01-04-001 WIRE LOOM, 1/4", CADILLAC CTS-V
30" 82-55-10-105 WIRE, 20 GAUGE, WHITE, CADILLAC CTS-V
32" 82-55-20-010 WIRE, 20 GAUGE, PINK W/BLACK STRIPE, CADILLAC CTS-V
32" 82-55-20-007 WIRE, 20 GAUGE, GREEN W/WHITE STRIPE, CADILLAC CTS-V
8" 82-55-16-003 WIRE, 16 GAUGE, YELLOW, CADILLAC CTS-V
8" 82-55-16-005 WIRE, 16 GAUGE, DARK GREY, CADILLAC CTS-V
240" 82-55-12-051 WIRE, 12 GAUGE, DUAL WIRE, CADILLAC CTS-V
1 82-55-80-004 WIRE/CONN ASSEMBLY T.P.S. EXTENSION, CADILLAC CTS-V
10 69-90-24-004 TIE WRAP, CADILLAC CTS-V
1 82-55-50-215 FUSE, 15 AMP, CADILLAC CTS-V
1 82-55-50-230 FUSE, 30 AMP, CADILLAC CTS-V
1 65-12-60-023 BRACKET, MAGNA VOLT, CADILLAC CTS-V
31-12-02-086 SUBASSEMBLY, HOSES & FITTINGS, CADILLAC CTS-V
QTY] PART NUMBER ITEM DESCRIPTION
1 65-01-00-002 BRACKET, IAT HOLD DOWN, CADILLAC CTS-V
24" 82-55-00-019 HOSE, 11/32 DOT BRAKE, CADILLAC CTS-V
64" 82-55-00-002 HOSE, 3/8" FUEL, CADILLAC CTS-V
56" 82-55-00-020 HOSE, 1/4" COOLANT, CADILLAC CTS-V
15" 82-01-04-025 HOSE 1/4" FUEL/OIL, CADILLAC CTS-V
12" 82-03-16-025 HOSE 3/16" FUEL, CADILLAC CTS-V
2" 82-05-16-025 HOSE, 5/16" FUEL/EVAP/PCV
4 48-46-10-019 CLAMP, HOSE 1/4" ID, CADILLAC CTS-V
2 48-46-05-002 CLAMP, STEPLESS EAR 5/8", CADILLAC CTS-V
1 82-04-14-100 HOSE MENDER, 1/4", CADILLAC CTS-V
1 48-46-00-036 FITTING, 3/8 X 3/8 90 DEGREES ELBOW, CADILLAC CTS-V
1 68-12-57-100 CHECK VALVE, POWER BRAKE
1 65-12-57-049 BRACKET, EVAP SOLENOID, CTS-V
1 75-77-00-010 WASHER 10MM, CADILLAC CTS-V
16" 82-55-00-025 HOSE, 3/8" FUEL INJECTION SPECIFIC, CADILLAC CTS-V
1 48-46-00-072 FITTING, FUEL, 3/8 HOSE BARB TO FEMALE QUICK CONNECT, CADILLAC CTS-V
1 48-46-00-073 FITTING, FUEL, 3/8 HOSE BARB TO MALE QUICK CONNECT, CADILLAC CTS-V
4 48-46-05-001 CLAMP, STEPLESS EAR, 11/16", CADILLAC CTS-V
14" 82-01-034-001 WIRE LOOM, 3/4", CADILLAC CTS-V
31-14-59-039 SUBASSEMBLY BELT TENSIONER, CADILLAC CTS-V
QTY] PART NUMBER ITEM DESCRIPTION
1 65-12-57-031 BRACKET, BELT TENSIONER, CADILLAC CTS-V
1 56-50-53-005 TENSIONER ASSY, DAYCO 2097601, CADILLAC CTS-V
1 71-12-17-090 BOLT, HEX FLANGED M12 X 90, CADILLAC CTS-V

Page 2 of 3




2004-2005 CADILLAC CTS-V PARTS LIST

89-90-60-009 LITERATURE KIT, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 89-89-00-004 MAGNA CHARGER WARRANTY/REQ CARD, CADILLAC CTS-V
2 91-01-01-001 6" SILVER MAGNA CHARGER STICKER, CADILLAC CTS-V
2 91-91-10-001 LABEL, FUEL TANK - PREMIUM FUEL ONLY, CADILLAC CTS-V
1 83-91-00-013 LUBRICANT, "LUBRIPLATE" 3/8 OZ. TUBE, CADILLAC CTS-V
1 80-59-57-001 GASKET, THROTTLE BODY, CADILLAC CTS-V
1 91-91-60-021 LABEL, VACUUM AND BELT DIAGRAM, CADILLAC CTS-V
31-12-00-030 SUBASSEMBLY, FUEL MANIFOLD, CADILLAC CTS-V
QTY| PART NUMBER ITEM DESCRIPTION
1 35-15-01-21X MANIFOLD, FUEL UNREG, CADILLAC CTS-V
2 71-06-10-035 BOLT-HEX FLANGE M6 X 35, CADILLAC CTS-V
1 80-62-31-112 O-RING, #112 VITON, CADILLAC CTS-V
1 69-12-41-002 FITTING, 3/8" FUEL ADAPTER, CADILLAC CTS-V
1 69-12-57-001 TOOL, FUEL RAIL 3/8" DISCONNECT, CADILLAC CTS-V
31-12-00-050 SUBASSEMBLY, MAGNA VOLT FUEL CONTROLLER, CADILLAC CTS-V

QTY] PART NUMBER ITEM DESCRIPTION

1 88-85-61-000 MAGNA VOLT, CADILLAC CTS-V
1 48-46-00-019 FITTING, 5/32" STRAIGHT COUPLER, CADILLAC CTS-V
1 48-46-00-020 FITTING, 5/32" TO 1/8" STRAIGHT REDUCER, CADILLAC CTS-V
1 82-55-80-009 WIRE/CONN ASSEMBLY MAGNAVOLT, CADILLAC CTS-V
2 82-55-30-005 TIE WRAP, W/BARB TIP, CADILLAC CTS-V
12 69-90-24-004 TIE WRAP, BLACK, CADILLAC CTS-V
4 74-74-10-100 SCREW, SELF-TAPPING FLG HEAD, #10 X 1", CADILLAC CTS-V
4 71-06-10-016 BOLT, M6 X 16, CADILLAC CTS-V
48" | 82-55-00-005 HOSE, 4.0MM ID, CADILLAC CTS-V
5 82-55-60-108 16-14 GAUGE BUTT CONNECTOR, BLUE, CADILLAC CTS-V
2 82-55-40-041 18-20 GAUGE BUTT CONNECTOR, PINK, CADILLAC CTS-V
60" | 82-01-04-001 WIRE LOOM, 1/4", CADILLAC CTS-V
4 77-73-06-100 NUT, M6 X 1.0, CADILLAC CTS-V
60" | 82-55-10-105 WIRE, 20 GAUGE WHITE, CADILLAC CTS-V
31-14-59-004 SUBASSEMBLY, FRONT STEAM MANIFOLD, CADILLAC CTS-V
81-00-57-003-MA SEAL, TUB TO HEADS, 2 PER KIT, CADILLAC CTS-V
79-06-10-037 BELT, K061037, CADILLAC CTS-V
88-85-60-003 FUEL PUMP BOOSTER, CADILLAC CTS-V
89-89-00-000 FRAME, LICENSE PLATE, MAGNA CHARGER, CADILLAC CTS-V
02-12-60-120 SUPERCHARGER ASSEMBLY, CADILLAC CTS-V (BOX 1)

Page 3 of 3






